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OR (3121an)

Discuss the advantages and disadvantages of pin
type insulators and suspension type insulator.
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8.  What do you mean by sag calculation and span
length calculation ? Explain it. 6
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IS 2 ? SUD) ARl B |
OR (3121a1)

State and explain corona formation factors affecting
corona.
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N4064 1620401
2019(Even)
Time : 3Hrs. Sem - IV/E/E&Ec
T & DEP
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question

carries 4 marks.
9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & wift ufg vl & SR <, UAS U BT 91 6 AF 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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4. Describe nominal t-method in medium transmission (i)
line.
4
dife n—fafsr & gegw sxaiaRer s &b
ARAT BN |
OR(3121d1)

(iii)

State and explain End-Conductor method in medium
transmission line.

gy GavoT s § 3ifaw arae fafsr «
IR A ddclisd dAT AT DY |

(iii)
What do you mean by radial distribution system ?

Explain it.
4
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OR (3721dT) )

What is strainds bundled conductor ? Discuss it.

oY §Sc dldd T 8 ? SHB! ARAT
cadl
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fagga wifea G=aRa &1 o Gadt 2
(@) 1 & S ugfa 4|

@) ftrra ugfa 491

(A) (31) dor (@) <7 9

(%) SWiad HIs T8I |

In transmission line sag depends upon
(a) Conductor material

(b) Length of span

(c¢) Tension in the conductor

(d) All of the above

eTafeE e ¥ 4

(31) ara® ggref wr fdv Fvar 2
(@) AT B a1 w® R Hxar 2
(¥) gre®d ¥ d99 R R wvar 2
(%) Suiaa g+ |

Electrical energy can be transmitted by
(a) High voltage d.c system

(b) High voltage a.c system

(c) (a) and (b) both

(d) None of these

P.T.O
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(xx)  The underground system cannot be operated
above
(a) 11 KV
(b) 33 KV
(c) 66 KV
(d) 220 KV

xx)  qRETa ugfa

(@) 11 fHen dleec & HUR Garferd g1
P ST APl 2 |

(@) 33 feal dlee & HUR Garfad &
P ST Al 2 |

() 66 foell dice & HuR Aarfaa )
P ST Al B |

(%) 220 foell dlce & HUX Adrferd T8
P ST APl B |

GROUPB

Answer all Five Questions.

gl gfa gol & S<X © | #5720

2. State and explain the effect of load power factor
and efficiency of a transmission line. 4

N4064

(vi)

(vii)

(vii)

5 1620401
S &I SRV & forg 66 fdal dree
SUgdd 2

(@) 30 fHarfiecr 4 R @ fag|

(@) 66 fHrcifier @ Hux & forv|

(7)) 120 feraier 9 SR & fay|

(%) 150 fHarficy & FUR > fery|

The permissible variation of frequency in
power system is:

(@) £ 1%

(b) £3%

(c) £ 5%

(d) £ 6%

vIfad ugfa A smafa &1 sraen gRa<da
@)+ 1%21
@) £3%2I
(@) £ 5%
(?) £ 6%l
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(xvi)

(xvi)

(xvii)

(xvii)

10 N4064

In which season corona loss in transmission
line is more

(a) Summer

(b) Winter

(c) Both (a) and (b)

(d) None of these

crafieq ars4 § fea #&q (Haw) 4
ST BIf9 3rfere B 21

(ar) et 7 |

() wIrsT # |

(|) (3r) @=aT (9) <4 A

() 379 4 BIg T2 |

The skin effect of the conductor increases the
effective value of

(a) Resistance

(b) Capacitance

(c) Reactance

(d) None of these

dlcld BT EhIF YHE

(@) ufoig & ywrdy w19 & 9gar 2 |
(@) =A@ gaTdY 919 B gedr 2 |
(@) Rape=a & yardl 99 &l dgdr 2 |
(@) 379 A ®Ig L |

N4064

(x)

x)

(xi)

(xi)

7 1620401

11/0.440 KV transformer is used in
(a) Foundation mounted

(b) Pole mounted

(c) Both (a) and (b)

(d) None of these

11 /0.440 fHaidiee aRwfE &1 AR
(31) MR wSes # BT 2 |

(@) urd wIS<s ¥ BhaT 2 |

() (31) der (@) <Al

(?) 3% 4@ @Ig FEN |

Outdoor substation requires
(a) More space

(b) Less space

(c) Very large space

(d) None of the above

ATSCSIX I b AaIIHAT Bldl
2
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(W) 9ga afers s @ |
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9.

10.

With neat and clean diagram describe pole mounted
substation ?

6
AH—YeR A &1 ¥erar 9 uid aIs<s
AR BT oI & |

OR (3121a1)

What is insulating material for cable ? Write the
properties of insulating materials for cable and
explain in brief.

@9 @ fou Harg AHA arar yaref @7 @ ?
gl @ foIy Harg A+ dred usrAl & I[on
@l ford qom 98y A = o |

Describe generalised circuit of medium line
nominal-T method in transmission line.

AT AT H wegH drgd AfEda ¢ &
fafsr & amr=fexor yRuer &1 quiq & |

OR (3121a1)

State and explain the performance of single phase
short transmission line.

P.T.O
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9.

10.

With neat and clean diagram describe pole mounted
substation ?

6
AH—YeR o3 31 ¥erar 94 uid 9SS
IR BT 9o & |

OR(312141)

What is insulating material for cable ? Write the
properties of insulating materials for cable and
explain in brief.

39 & fau Harg AHA arar garef @ @ ?
g @ foIy Hare Ad+ dred usrAl & I[on
@l fod qom 9au # = oW |

Describe generalised circuit of medium line
nominal-T method in transmission line.

AT 13 § Aegdq dArgd AfEd ¢ &
fafer & am=f@exor yRuer &1 qviq & |

OR(312141)

State and explain the performance of single phase
short transmission line.
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